ITEM NO. PART NUMBER DESCRIPTION
1 PTKTFVWCM18-001
2 PTKTFVWCM18-002
3 PTKTFVWCM18-003
4 ILF-FLR-EXT-1370 1370 FLOOR JOINER ALLOY
5 ILF-FLR-EXT-1580 1580 FLOOR JOINER ALLOY
é Step Cap 1000mm Step Cap 1000mm
7 Step Cap 1200mm Step Cap 1200mm
8 Washer ISO 7091 - 8 M8 WASHER LARGE
9 0537380 - MEx40- M8X60 DOME HEAD BOLT
DRAWING APPROVAL  Snr.Management: Operations:
- PROPRIETARY AND CONFIDENTIAL Drawn by: P.LUIS Filename: PTKTFVWCM18 FITTING INSTRUCTIONS
ALUJTOSAFE" orwmon comane nmsorawnc s e Scale SCALE: 1:50 vehicle VW CRAFTER MWB 2018 Job no:

SOLE PROPERTY OF AUTOSAFE. ANY REPRODUCTION IN

PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION :
1N DU s T R IE S OF AUTOSAFE ISPROHIBITED. Date 24/04/2020 Material Color Part no:




1-REMOVE ALL FACTORY TIE POINTS FROM CARGO AREA
2-FIT 1580 JOINER TO FRONT FLOOR BOARD
3-PLACE BOARD INTO POSITION

DRAWING APPROVAL  Snr.Management: Operations:
. PROPRIETARY AND CONFIDENTIAL Drawn by: P LUIS Filename: STEP 01
AUTOSAFE SOLE PROPERIY OF AUTOSAFE. ANY REPRODUCTION N | Scalle SCALE: 1:10 Vehicle VW CRAFTER MWB 2018 Job no:
PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION \
I N B O s T R 1E S OF AUTOSAFE ISPROHIBITED. Date 24/04/2020 Material Color Part no:




1-FIT 1370 JOINER TO REAR BOARD ENSURING BEVELLED EDGE ON BOARD IS FACING DOWN
2-ENSURE LARGER FLANGE OF JOINER IS TOWARDS BOTTOM OF BOARD

3-PLACE BOARD INTO POSITION

DRAWING APPROVAL  Snr.Management: Operations:

Filename: STEP 02

. PROPRIETARY AND CONFIDENTIAL Drawn by: P_LUIS

AUTOSAFE R IR AT ON CORTAINED N IS DRANING S THE  Scale SCALE: 1:50 Vehicle VW CRAFTER MWB 2018 Job no:
PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION :

Date 24/04/2020 Material Color Part no:

I W b o |3 T R 1 E B OF AUTOSAFE ISPROHIBITED.




1-PLACE MIDDLE BOARD INTO POSTION ON TOP OF ALLOY JOINERS
2-SLIDE MIDDLE BOARD FORWARD AND BACK UNTIL BOARD FALLS INTO JOINER SLO@

3-LIFT FRONT BOARD UP AT@ UNTIL MIDDLE BOARD FALLS INTO JOINER SLOT

4-PUSH FRONT AND MIDDLE BOARDS DOWN AT@
S5-ALLIGN ALL BOARDS WITH EACH OTHER AND CAPTURED POINTS IN FLOOR

DRAWING APPROVAL  Snr.Management:

PROPRIETARY AND CONFIDENTIAL Drawn by: PLU |S Filename: STEP 03

[ ]
AALITLEOS A F E™ i vrorvaon CONTANED IN THS DRAWING is THE . -
SOLE PROPERTY OF AUTOSAFE. ANY REPRODUCTIONIN ~ Scale SCALE: 1:50 vehicle VW CRAFTER MWB 2018
PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION :
' N DU s T R IE S OF AUTOSAFE ISPROHIBITED. ate 24/04/2020 Material Color

Operations:

Job no:

Part no:



1-REFIT ALL ANCHORS TO FLOOR USING M8X60 DOME HEAD BOLTS AND M8 WASHERS

DRAWING APPROVAL  Snr.Management: Operations:
. PROPRIETARY AND CONFIDENTIAL Drawn by: P_LUIS Filename: STEP 04
AUTOSAFE R IR AT ON CORTAINED N IS DRANING S THE  Scale SCALE: 1:50 Vehice VW CRAFTER MWB 2018 Job no:
PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION )
Date 24/04/2020 Material Color Part no:

I W b o |3 T R 1 E B OF AUTOSAFE ISPROHIBITED.




1-FIT ALLOY CAPS TO FLOOR USING WOOD SCREWS PROVIDED

DRAWING APPROVAL  Snr.Management: Operations:

A Ll T I:l S A l—_ E' PROPRIETARY AND CONFIDENTIAL Drawn by: P LUIS Floname:  STEP 05
SOLE PROPERTY OF AUTOSAFE. ANY REPRODUCTON N Scale SCALE: 1:50 Vehicle VW CRAFTER MWB 2018 i~
Part no:

PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION :
' N DU s T R IE S OF AUTOSAFE ISPROHIBITED. Date 24/04/2020 Material Color




	Sheet1
	Drawing View1

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2


